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2.1 000000 (mathematical induction)
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{P(0) AVm € Nat. {P(m) = P(m+1)}} = Vn € Nat. P(n)

O0000000000P(mO00O0O0D0O0O0OO (induction hypothesis)O P(0) 0 OO
0000000 (basis)OVm € Nat. {P(m) = P(m+1)}000000000O0 (induction
step) 00O O

gbooobooooooboooooon

Pn): 04+---+n=n(n+1)/2

good---gobuogbboogbbuoobgboobboouboobobobbooboobo
OO00oPO)ODOOOPO)DOODOOOOOOODOODOOOOOOOYm € Nat. {P(m)=
P(m+1)}0000000PmO00000OO0OODD
m(m+1)

2
0000000000000 00000P(m+1)0000000O0C0OO0O0O0OP(M+1)
ooodgoo+---+m+m+1000000000000

04 +m=

1
0+m+m+m+1:@@;l+m+1
godooooooobobbbboooooo
m(m +1
O+---+m+m+1 = ¥+m+1 (1)

2
m(m+1) +2(m+1)
2
(m+1)(m+2)
2
(m+1)(m+1+1)
2

0000Pm+1)000000
000000000000Vee Nat. P(r)000000

0000 1000000.-,00000000.0000000a(r+1)2n+1)/600
00000000000000 P(n)0O

02+‘”+n2:n(n+1)(2n+1)
6

gooooo
Vn € Nat. P(n)

gboooooooood

Pm)DOODOCOOOO Pm+1)OOOODDOOOODOOODODODODOmOOODOO
000000000 Plm)0000OD0OOOOOODODOOODOOO Plm+1)ODOODODOO
gbbobuoooobbbooogbbbuoooobbbooobbbooooboo
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2.2 00000 (structural induction)
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t ::= true
| false

| if t then t else t
| 0

| succ t

| pred t

| iszero t
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1. {true,false, 0} C T
2.t € 7000 {succ ty,pred ty,iszero t1} C 7T
3. (t1€7T00t,e700t3€7)000 (if t; then ty else t3 € 7)
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true € T falsec 7T 0eT
t, €T t, €T t, €T
succ t1 €T pred t; € 7 iszerot; € T

t1€T toe€T t3€T
if t; then t, else t3 &€ T
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S() - @
Siy1 = {true,false, 0}
U {succ t;,pred t;,iszero t; | t; € S;}
U {if t; then t; else t3 | t1,te, t3 € S;}
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consts(true) = {true}

consts(false) = {false}

consts(0) = {0}

consts(succ ty) = consts(ty)

consts(pred ti) = consts(ty)

consts(iszero ty) = consts(ty)

consts(if t; then ty else t3) = consts(ty) U consts(te) U consts(ts)
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size(true) =
size false)

size(succ tl) = size(t;) + 1
size(pred t1) = size(ty) + 1

(
(
size(0) =
(
(
(1

size(iszero ty) = size(ty) + 1
size(if t; then ty else t3) = size(ty) + size(ta) + size(ts) + 1
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depth(true) =

depth(false)

depth(0) =

depth(succ tl) = depth(ty) + 1

depth(pred t1) = depth(ty) + 1

depth(iszero t1) = depth(t;) + 1

depth(if t; then ty else t3) = max(depth(ty), depth(ts), depth(ts)) + 1
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P(true) A P(false) A P(0)

AVty € T. {P(t;) = P(succ t;)}
AVt € T. {P(t1) = P(pred t1)}
AVty € T. {P(t1) = P(iszero t1)}
A Vt1,ta,t3 € T. {P(t1) A P(te) A P(t3) = P(if t; then ty else t3)}
=Vt € 7. P(ty)
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2.3 O00O0O0O0O (well-founded induction)
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